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Simple Interest
Exercise 12A

Simple Interest Formula
I=PxRxT

Where:
I = the Interest Money created in dollars
P = the “Principal” starting amount of money
R = the Interest Rate per year (in decimal form)
T = the Time the money is Invested,

or Borrowed, in Years

SI:P)(RxT A=P+ S|

100
_SIx100 _SIx 100 1 = S1x 100
P=RXT R=PxT PxR
where,
Sl = Simple Interest P = Principal R=Rate T=Time A =Amount
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Q1

Answer:

P — Rs. 6400, R — 6%, T — 2 years

PxRxT 00 6 2
S.L = =% ="
= Rs. 768
Amount=P+S.I.
—=6400+768
= Rs. 7168
Q2
Answer :

P =Rs. 2650, R=8%, T=2—; years =§ years

PxRxT  2650x8x5
S.I = xmc;{ - lﬂ;(x;
=Rs. 530
Amount =P +S.1.
=2650+530
= Rs. 3180
Q3
Answer :

P —Rs.1500, R—12%, T—=3+ 2 — £

< Years
SI— PxRxT _ 1500x12:x13
T mw 1004
= Rs. 585

Amount—=P+S8.L
—=1500+585
=Rs . 2085

Q4

Answer:

P — Rs. 9600
R=71%

T = 5 months — % years
_ P=<R=T
5.L= ==

_ 9600x15x5
T 10x2x12

=Rs. 300
Amount = P+ 5.1
= 0600 + 300

= Rs. 0000

Q5 @ )
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Answer :

P —Rs.5000, R — 0%, T — 146 days — 149

36 years
S I— PxR=T _ 50000146
T w00 100=x365

=Rs. 180
Amount=P-+5 .1
=5000+180

=Rs. 5180

Qo6

Answer :

P — Rs. 6400, S.I. — Rs. 1152, R—6%

T— SILx100 _ 1152 x=+-6—6
— P=R

6466 x6
_ 1152
T
= 3 years

Q7

Answer :

P=Rs. 9540, S.I.=Rs. 1908, R =8%
T — SLx100 _ 1908x100

PxR 0540 <8
_w
T4

:2% years

Q8

Answer :

P — Rs. 5000, A—Rs. 6450, R — 12%

SIL=A-P
= 6450 — 5000
= Rs. 1450
T — SIx100 _ 1450100
~ PxR 500012
_»
T
_ 9 b
= Qﬁ
—2 years 5 months
Q9
Answer:

P — Rs. 8250, S.I. — Rs. 1100, T — 2 years
R: 5.1 100 _ 1100x100

PxT — 8250x2
_ 1100
=== =6.67%
Q10
Answer :

P=Rs.5200,5S.1.=Rs. 075 [T=231 years=3 years|
R— 5.1 100 _ 975x100x2

O '\Q
) i;'x'l" TE300x56 @6 C}'
=7.5%

&
Q11 \(b Q
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Answer :

P —Rs. 3560, A — Rs. 4521.20 , T — 3 years
S.L— A—P —4521.20 — 3560

= Rs. 061.20
R— SLx100 _ 961.20:100
T PxT —  3560x3
_ 96120x100
T 100x3560x3
Q12
Answer :

P —Rs 6000, R = 12%, T—3 years 8 months — 3 . — 2 years
S = PxRxT _ GO0 1244 — Rs 2640

100 10012
A=P+5.1L
= 6000 + 2640
= Rs 8640
Q13
Answer:
P = Rs. 12600 R=15% T =3 years
SI— PxR=T _ 12600x15x3
oo T 100
=Rs. 5670

A = Rs. 12600 4 Rs. 5670 = Rs. 18270

Hari had to pay Rs. 18270 to the money lender, but he paid Rs. 7070 and a goat.
.. Cost of the goat = Rs. 18270 — Rs. 7070
= Rs. 11200

Q14

Answer:

Let the sum be Rs. P.
S.I.=Rs. 829.50, T =3 years, R=10%

Now. P— 5.1x100
, P=

RxT
_ B20.50x100
T 10x3
_ 8205
ER
= 2765

Hence, the sum is Rs. 2765.

Q15

Answer :

Let the required sum be Rs. 2.

A =Rs. 3020, R=73 %, T = 3 years
Now,

Now. SI1.— PxRxT _ zx15x3 _ Oz

100 2x100 40
A=P+S.1L

O 40z 49z A9x @
=+t mp="m — @

But the amount is Rs. 3020. 60 c,;\\O

49z
=> 42 _ 3090

o g _ 3020x40 _ 156800 _ @
=> === = == = 3200

Hence, the required sum is Rs. 3200. @ Q
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Q16

Answer :
Given: R=11%, T=2 years 3 months = 2+ 1—:"2 = % years
Let the required sum be Rs. z.

Ll
SI— PxRxT _ Txllw2F a0

00 7 jp0xt+=, 400
A=P+5.L
o 99z _ 400z409r 409z
=T+ %0 = a0 — a0
But the amount is Rs. 4401.
409z
Z}WZMQI
_ _ 4401400 _ 1796400
=>T =" =~ = 3600

Hence, the required sum is Rs. 3600.
81— PxRxT _ 3600x11x3 Rs. 1188

100 100
- Amount=P+85.1.=3600+1188
—Rs. 4788
Q17
Answer :

Let the required sum be Rs. x.

SI— PxRxT _ zx8x2 16z

100 100 100
A=P+S5.L
_ 16z _ 1002416z _ 116z
=T+ %0 = "0~ 0
But the amount is Rs. 12122,
116z

_ _ 12199x100 _
=>g="T3" = 10450

1 B
Now. S.IL— P«<Rx=T 104569 =32
yol.=

T e xt2, = Rs. 2508
S A=P+S51L
= Rs. 10450 + Rs. 2508
= Rs. 12058
Q18
Answer :

P—Rs.3600 A—Rs.4734 T—31—"7 years
SL—A-P
— 4734 — 3600

=Rs. 1134

_ SLx100
R— PxT

_ 1134x100x2
T 3600xT

=0%

Q19
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Answer :

P =Rs. 640, A = Rs. 768, T=2 years 6 months — > years

SL=A-P
= 768 — 640
=Rs. 128
SLx100 _ 128x100x2
R= 25T = Gaxs - —0%0

P =Rs. 850, R =8%, T = 3 years

. _ PuxRxT _ B50«Ex3 _ 2040
S SL=DxRT_ s0x6xs _ 200 _pg 904

SA=P+S5.L
= 850 4 204
=Rs. 1054

Q20

Answer :

P =Rs. 5600, A=TRs. 6720, R=8%
SL=A-P
= 6720 — 5600

=Rs. 1120
S.1x100
T= PxR
1120100
T h600xB
_ux
7448

51
_25 years

Q21

Answer :

Let the sum be Rs. x .
Amount= %

~SL=A-P=% -2

3z

5

Let the rate be R %.
SI— PxRxT
- 100

0
==>dxx20=Rxxx5b
Ix T X

Fa s

Hence, the rate of interest is 12%.

==R= =12

Q22

Answer :

Amount in 3 years = (Principal + S.I. for 3 years) = Rs. 837

Amount in 2 years = (Principal + S.I. for 2 years) = Rs. 783
On subtracting :

S.1. for 1 year = (837 — 783) = Rs. 54
5.1 for 2 years— (% x 2) = Rs. 108

O oL
.. Sum = Amount for 2 years — S.1. for 2 years b \\
=783 108 @ O

— Rs. 675 6
P =Rs. 675, S.I. = Rs. 108 and T = 2 years K Q
R=Sp N4

- 1085887 Q% &Q

5, = 2 . O
=8% ‘\\\ @@

Q23 Q\ v/
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Answer:

Amount in 5 years = (Principal + S.I. for 5 years) = Rs. 5475
Amount in 3 years = (Principal + S.I. for 3 years) = Rs. 4745
On subtracting :

S.IL for 2 years = (5475 — 4745) = Rs. 730

S.1 for 3 years—( 2 x 3) = Rs. 1005

.. Sum = Amount for 3 years — S.I. for 3 years
= 4745 — 1095

= Rs. 3650

P=Rs. 3650, S.I.=Rs. 1095, T=3 years

S.Lx100
R— PxT
_ 1095x100
T 3650x3

= 10%

Q24

Answer :

Let the first part be Rs. z.
Second part = (3000 — z)

1

2
..5.1. on x at 8 % per annum for 4 years = % = g’—s

iy
(3000 z)xgx-e-‘
S.I on (3000 — ) at 9% per annum = e,
_ 270000z
- 50
270009z
50

(27000 sz) e
H'I

== 16z = 27000 — Oz

== 16z 4+ 9z = 27000

.

=mz=— =1080
—

-, First part — Rs.1080
Second part — (3000 — 1080) = Rs. 1020

. Bz
S

== 8 =

Q25

Answer :

Let the first part be Rs. z.
Second part = (3600 — z)

~.S.L onx at 9% per annum for 1 years = ZX2x1 _ %

100 — 100
1
(B&DD z)xlx-i"ﬁ- 3600z
106 Tow

And, S.1. on (3600 — z) at 10% per annum =

. 9z 3600z
cogE 4 200z 333

_ 9:;3&123}0 0z _ 999

== —z + 36000 = 33300

=>» —& = 33300 — 36000

== —x=—2700

== x=2700

First part = Rs. 2700 @

Second part — (3600 — 2700) = Rs. 900 60 c,}\()
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Exercise 12B

Q1
Answer :

(a) Rs.125

Principal = Rs. 6250

Simple Interest = 4% per annum

Time = 6 months = % years

Simple Interest— %

625041
1002

Simple Interest= 22 = Rs. 125

Simple Interest—

Q2

Answer :

(b) Rs.3500

Amount =Rs. 3605

e — 219 _ 219
Time = 5= days= 5z days

Rate=5% per annum

Amount = Sum + 7smxﬁ“;;xm

Amount = Sum (1+ R"‘mlﬁum )
3605 360536500
Sum= PFERED = 37)‘595
Sum= Rs. 3500
Q3
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Answer :

(c) 8%

Let the sum be Rs. z.

Rate of interest = r%
Time:ﬂ% years— % years
Amou.ut:% * Sum

Rate=7

Amount :'—é * Sum

Principal + S.I. = Amount
Principal+ Principal « Ratex Time _

100

TG Li]
W0x2 5T

_ L R
—}z(1+ Tz ) =357T

% % Principal

=>z+

o r 6
=>r=40x %

==>r=28

So, the rate of interest is 8%.

Q4
Answer :

(b) @ months

4.(b)

Let the time be ¢ years.

Principal = Rs. 8000

Amount = Rs. 8360

Rate = 6% per annum

Amount = Principal (1 + R”"TTM)

8300 _ 4 Gt

000 100

-, B360 4 6t

== om0 l_mu

£360 8000 100

=>t=( B000 ) 6
_ 360 .. 100
= 3000 * 6
=§x12mont.hs
= O months

Q5

Answer:

(b) 10%

Let the sum be Rs. z and the rate be r%.
A/Q:

Amount =2z

= P+ 5.1.=2z

=P+ 2T _op

=>z(1+ '1"“1]0 )=2z
> moue
== 10r =200 — 100

= 10r =100

_ 100
== r= 10

=r=10

Qo6
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Answer :

(C) Rs. (%)

Simple Interest=Rs. x
Rate= z % per annum

Time = x years
Principal » Rate = Time

Simple Interest—= 0

Principalx x xx
= A = —

=> Principal = Rs. 12

Q7
Answer:
(b) 8%

Time=>5 years

Simple interest—= % P

2%100
= Rate = < ¢

—=>Rate=8%
Q8
Answer :
(c) 22 years
R1=12%
Rs = 10%
P, = Rs.8000
P, = Rs.9100

Let their amount s be equal in T years.
Amount;, = S5.1., + P

_ PxRxT
=—m _th

BO00=<12xT"
= ST 4+ 8000

= 9607 + 8000
Amounts = 5.1+ P

_ PyxRaxT
=g t P

_ EIJEH]])E'%'UXT _'_9100
= 0107 + 9100
Amount; = Amount,
= 0607 + 8000 = 910T + 9100
= 0607 — 9107 = 9100 — 8000
= 50T = 1100
=T =22
Hence, after 22 years their amounts will be equal. @

Q9 60 cﬁ;\\o
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Answer :

(c) Rs. 768

Let the rate be R %.
SIL=A-P
= 720 — 600
=Rs. 120
Time = 4 years
R

100120
R 6004

=5
Rate of interest = 5%

Now, R = (5+2)% = 7%

_ Px<RxT
S.1.= =5~

_ 0% T x4
100
= Rs. 168
Amount = SI+P
= 600 + 168
— Rs. 768
Q10
Answer :
(d)y?=zx
RxT :
y=SlLonz === (1)
yxRxT -
z=58Lony="53 (1.1)

Dividing equation (1) by (u) :

=>g=(xxRxTX 100 )

z 100 yxRxT
=I= z
=y =xz

Q11

Answer:

(a) 1711 years

Rate=10% per annum

Simple Interest=0.125 x Principal
== w =0.125x Principal
=> T2 —0.125

=}'I‘1'_me=1.25=1i years

Q12

Answer : @
b) RS 2400 0 .\O
(Rlate5=3% % per annum @b é
s e 2 R

:% years \ %-
sL—d OQ% &Q
—>P— 20 N

(£x1) ‘§\\ ®®

=>P=600x4

=>P=Rs 2400 V
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